(JHAEA 4)

(5% A1)
........ H & 3
% N E [ BELLD LT 5 HE# 3. BETDEEF 4. BT D H KT ]
S SUIHE T2 2 B ZE T O FTE - D 28 B DHEX DFEIE
P
ﬁ% FFA4EA H
________ 1 & 5 10 11 13 15
I A 0 R TRt 1 A o e i B
© [EEL LS LT 2RBE, {628 ETOTHEMOET, #Hk. FILICET 2 A HE]
(E=2EEPD
i@k&&a%“ 5’?“%*@1/@*&7\7@%??4%{‘@ l#,\ﬂwé{ﬁﬁ*
'E" % L/ CI: 5 ........ 1 #ﬁl% )
¥ Feaha [ II[[[MDDDDDDDDDDDDDDDDDDDDDDDDD 2. i
s |J|JLLUULLLLLOOUOUUOUUULOD OO0
(BET= 2 B 3T
ZIUHF =N HATAXaruT s
. o 3 5 10 15 20
gftééa%Eﬁ%§ EI”I a s e o |l o
........ 23 25 30 35 40
PET= D HEFT DO e
g A | ol 7] [2][o]]e]  mmmns o WIS
- E 3 5 10 15 20
ﬁéﬁ_é E%Fﬁ@ b
23 25 30 35 40
M
....... _ 3 5 6 10 . 20
wl B OB OEF 5 8117] [7][6][3] — [of{off{1||3 & & 5 o187 7| [[O1O - [O[O O |o
. o B o - /N NP AN AL T iR N N NS N N N
¢ r 0BE WO00U00000000E00 000 e e
"""" D) 5 R
s |1]| | ]| | NN N |
(BET= B B3P
7 VT
X o 3 5 10 15 20
gftééé%ﬂﬁgémélul
23 25 30 35 40
PETZDHERD o aimln
2 1 B - ][DDD MR KR 4
- B ) ; n 15 %
Tﬁf_5?%%% | B
F j: L—
23 25 30 35 40
M
...... - 3 5 6 10 . 20
| B OE E B 8|7 - T
...... L E KL AR R S Lot U B N e s R BOK G R e
ol b * X
FFsane Ll ] DDDDDDDD 2. i
B - h
""" — 5 5 1 R
wo | | || ][] UUOULL
(BEF= 2 3T
eV A
________ 3 5 10 15 20
wrsEEFo
gremEme Bl
23 25 30 35 40
BT D HETO oy e
o 54 5 BT A - ][DDD B KT
- B ) ; n 15 %
ﬁtéﬁiﬁﬁ ‘ZH[}
P +
-------- 23 25 30 35 40
M
...... _ 3 5 6 10 . 20
x| B OE E B 8|7 - I
______ kAR L f R EE SO LR U BB R JE B K G TR
PO A . X
RN SRR i DDDDDDDD 2. i
o T s o
""" D) R
s | | || ][] OO




